Grade 12 Applied

Quiz Debrief Week 1
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Grade 12 Applied Week 1 Quiz

A quick weekly quiz. Time limited! Open book (obviously). Use my cheat sheet(s) or any
notes. Issued cheat sheets' from the other grades are mighty useful!
The quiz will be made available for 90 mins at or before start of class. Submissions will be

shut down after 90 minutes. I

Have scrap paper and calculator ready. Reaol LV\S'LVIJC. Ohs'

Round all decimal amounts to nearest 0.01. Simplify (reduce) all fractions as usual.
= =

Use the notation em*2, for example, to represent square units of measure since superscript
exponents are not practicable in the webpage.

There are several Bonus questions if you need the marks. Do them regardless.




Cher has a bag of marbles as pictured below. Determine the theoretical  * 2 points

probability that she draws out a Green marble. Select best answer.
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Given the fair spinner below, determine the probability that an outcome of -

4" will be spun on any spin. \ Y

Faik P chner )
Co.c,L Ou{ﬂ-owe |

e%ua | |13 ,Qoht[fa :

L Four 5
' _#fmunhreol cu'(.':am
7 Prohebil:d
o5 Reall-a . o ) Hall ?"‘S“IE’ P i ™ %?osslU@

@ 50 \/ P(S")Ll"\&‘/:’) /2" .‘3070




In a game the fair spinner below is spun 440 times. Determine how many
times times it is expected that it will have an outcome of "1".
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Grade 10. Solve the proportion be
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Grade 10. Determine the length of side b. Select the best answer. [Hint:
Pythagoras] ékcd{ £ lo
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Problem Solve. A farmer has 40 animals, chickens and cows. He forgets
how many he has of each but he remembers they have 96 legs all
together. How many chickens does the farmer have?
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Problem Solve. A farmer has 40 animals, chickens and cows. He forgets
how many he has of each but he remembers they have 96 legs all
together. How many chickens does the farmer have?

tlhese abuut

g "
O 2 Guess € Chece ”ﬂi {imes alrendy

@ 32 uﬂcw(rs EQ:: A0 30 20 <, s Total
O 2 4° )‘&? @ 0 RO (Agx

e [37zt
O 25 K%O?, G() fO yal, fOU»QE?
O wibee



BONUS 1. [Grade 10, two Bonus marks if you need them]. Determine the
measure of Angle A in degrees. State it below.
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Hypotenuse side is alwa y cross from the 90° comer.
.‘fkmwfwop arts of a nght triangle, can figure out the rest.
Handy rule: longest side across from biggest angle, smailest side across from smallest angle.
Round tng ratios to nearest 0.0007 normaily
To fin dmea sure of angle: To find a side:
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Bonus 2. [Grade 10] Determine the Area of the circle and select the answer
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Bonus 3. [Grade 11] Go real crazy with the Cosine Law. Solve for side 'c'.
State the answer below. /"'" ’

Uh ,
" 2= - draeb cos(C)

52% 61 -A°536 cOS(HOu)

5.2+ 6% —2-5.2- 6 - cos(110)
= 84.382056943
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Trigonometry Cosine Law:
Cosine Law for side a across from angle A: a” =b* + ¢’ — 2%b*c*cos(A)

3 ; I .
Cosinc Law for angle A given three sides:  cos(£A) = ——— or £4 = cos™! (b +:m. . )
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Various arrangements of formula: '.1 = h + ¢’ — 2*h*c*cos(A)

b'=a +¢ —2*a*c*cos(B): or¢ =a 0 — 2% a*b*cos(()




